Forme Développée (C)
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Réécrivez chaque nombre ci-dessous en forme développée.
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Forme Développée (C) Solutions

Réécrivez chaque nombre ci-dessous en forme développée.

5644

5000+600+40-+4
5x1000+6x100+4x10+4x1

5x1034+6x102+4x 10" +4 x 10°

1737

1 000+7004+30+7
I x10004+7x1004+3x10+7 x1

Ix103+7x1024+3x 101 +7 x 10Y

7610

7000+600+104+0
Tx1000+6x100+1x10+0x1

Tx10°+6x102+1x 101 +0x 109

6253

6000+200+50+3
6x1000+2x100+5x10+3x1

6x10°3+2x1024+5x 10" +3 x 10°

1943

1 000 +900+ 40+ 3
I x10004+9x%x1004+4x10+3 x 1

Ix1034+9x102+4 x 10" +3 x 10°

5190

50004+ 1004+90+0
5x1000+1x100+9x10+0x1

55x10°34+1x10249x%x 10" +0x 10°

9358

9000+300+50+8
Ox1000+3x100+5x10+8x1

O0x 103 +3x102+5x 10" +8 x 109

5146

5000+ 100+40+6
S5x1000+1x100+4x10+6x1

55103 4+1x1024+4%x 10" +6x10°

6 598

6000+5004+90+8
6x1000+5x100+9x10+8 x1

6x10°+5%x102+9x 101 +8 x 10V

2998

20004900490+ 8
2x10004+9x100+9x 10+8 x 1

2x10°4+9x102+9x 101 +8 x 10V

1532

1 000+5004+30+2
1 x1000+5x100+3x10+2x1

1 x10°4+5%x10>+3 x 10" +2 x 10°

9601

9000+ 600+0+41
9x10004+6x10040x 1041 x1

Ox10°+6x1024+0x 10 +1x10°
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